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Instructions:

Q-1

Q-2

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

(a)  Explain the following signal propagation effects.
(1) shadowing
(i1) diffraction
(iii)  refraction
(b) Intime division multiple access, explain demand assignment multiple access
with explicit reservation and with implicit reservation.

(a)  What is the function of the following switches and databases in network and
switching subsystem of GSM?
(1) Mobile services switching center
(i)  Home location register
(iii))  Visitor location register
. What are the advantages and disadvantages of infrared?
. How synchronization can be achieved in 802.11 infrastructure network?
3. Explain Care —of address.
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OR
. How synchronization can be achieved in 802.11 ad-hoc network?
. What are the advantages and disadvantages of radio signals?
. Write the three alternatives for the implementation of an HA.
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(a) . Explain agent advertisement messages sent by foreign agents and home agents.

. How do routing take place in destination sequence distance vector routing
protocol?

. What are the advantages and disadvantages of Indirect TCP?

. Explain distributed foundation wireless medium access control- distributed
coordination function using CSMA/CA.
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(a) . What are the advantages and disadvantages of Snooping TCP?

. Explain distributed foundation wireless medium access control- point
coordination function with polling.

. Explain the baseband layer of the core protocol of Bluetooth.

. Which are the two different ways of registration for mobile node with home

agent?
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1. Explain GPRS architecture reference model.

2. How direct sequence spread spectrum work?

1. Which three power states, a Bluetooth device can go into?

2. Explain dynamic source routing protocol for ad hoc network.
OR

1. Explain wireless transaction protocol class 0, class 1 and class 2.
2. What is hidden and exposed terminals?

1. Write about three groups of control channels in GSM.

2. Explain reverse tunneling.

1. Write WML and WMLScript to convert rupees into dollar, Euro. Assume
suitable interface and data.
2. Write ns2 commands for creating a TCP node.
Explain Dynamic host configuration protocol.
OR

1. Write XHTML MP that shows election ballot paper that includes candidate
name and sign on the screen.
2. Write ns2 commands for creating UDP node.

Explain wireless transport layer security.
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